
 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4

 / MP THRU
0 0.2 0.4 0.6 0.8 1 1.2 1.4

O
cc

up
an

cy

-6
10

-5
10

-4
10

-3
10

-2
10

-1
10

1

  [mV]THRU
0 1 2 3 4 5

 / ndf 2χ  53.51 / 25
Prob   0.0007692
p0        0.1313± 3.428 
p1        0.0008727± -0.1428 

 / ndf 2χ  53.51 / 25
Prob   0.0007692
p0        0.1313± 3.428 
p1        0.0008727± -0.1428 

O
=45ϕRUN=7, CH=1, Udet=1000V, 

 / ndf 2χ  53.51 / 25
Prob   0.0007692
p0        0.1313± 3.428 
p1        0.0008727± -0.1428 

O
=45ϕRUN=7, CH=1, Udet=1000V, 
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 / ndf 2χ  66.75 / 25
Prob   1.156e-05
p0        0.1614± 4.017 
p1        0.001006± 0.178 

 / ndf 2χ  66.75 / 25
Prob   1.156e-05
p0        0.1614± 4.017 
p1        0.001006± 0.178 

O
=45ϕRUN=7, CH=1, Udet=750V, 

 / ndf 2χ  66.75 / 25
Prob   1.156e-05
p0        0.1614± 4.017 
p1        0.001006± 0.178 

O
=45ϕRUN=7, CH=1, Udet=750V, 
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 / ndf 2χ  84.72 / 39
Prob   3.134e-05
p0        0.1124± 3.469 
p1        0.001265± 0.2409 

 / ndf 2χ  84.72 / 39
Prob   3.134e-05
p0        0.1124± 3.469 
p1        0.001265± 0.2409 

O
=45ϕRUN=7, CH=1, Udet=500V, 

 / ndf 2χ  84.72 / 39
Prob   3.134e-05
p0        0.1124± 3.469 
p1        0.001265± 0.2409 

O
=45ϕRUN=7, CH=1, Udet=500V, 
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 / ndf 2χ  52.25 / 33
Prob   0.01786
p0        0.1282± 3.522 
p1        0.0009247± 0.1496 

 / ndf 2χ  52.25 / 33
Prob   0.01786
p0        0.1282± 3.522 
p1        0.0009247± 0.1496 

O
=45ϕRUN=8, CH=1, Udet=500V, 

 / ndf 2χ  52.25 / 33
Prob   0.01786
p0        0.1282± 3.522 
p1        0.0009247± 0.1496 

O
=45ϕRUN=8, CH=1, Udet=500V, 
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 / ndf 2χ  40.13 / 24
Prob   0.02072
p0        0.1863± 3.489 
p1        0.001± -0.1184 

 / ndf 2χ  40.13 / 24
Prob   0.02072
p0        0.1863± 3.489 
p1        0.001± -0.1184 

O
=45ϕRUN=9, CH=1, Udet=-1000V, 

 / ndf 2χ  40.13 / 24
Prob   0.02072
p0        0.1863± 3.489 
p1        0.001± -0.1184 

O
=45ϕRUN=9, CH=1, Udet=-1000V, 
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 / ndf 2χ  31.13 / 23
Prob   0.1197
p0        0.2872± 4.357 
p1        0.001106± -0.1282 

 / ndf 2χ  31.13 / 23
Prob   0.1197
p0        0.2872± 4.357 
p1        0.001106± -0.1282 

O
=45ϕRUN=9, CH=1, Udet=-750V, 

 / ndf 2χ  31.13 / 23
Prob   0.1197
p0        0.2872± 4.357 
p1        0.001106± -0.1282 

O
=45ϕRUN=9, CH=1, Udet=-750V, 
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 / ndf 2χ     49 / 27
Prob   0.005924
p0        0.1125± 3.057 
p1        0.0009959± 0.1566 

 / ndf 2χ     49 / 27
Prob   0.005924
p0        0.1125± 3.057 
p1        0.0009959± 0.1566 

O
=45ϕRUN=9, CH=1, Udet=-500V, 

 / ndf 2χ     49 / 27
Prob   0.005924
p0        0.1125± 3.057 
p1        0.0009959± 0.1566 

O
=45ϕRUN=9, CH=1, Udet=-500V, 

 / MP THRU
-1.4 -1.2 -1 -0.8 -0.6 -0.4 -0.2 -0
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 / ndf 2χ  50.57 / 19
Prob   0.0001082
p0        0.2139± 3.161 
p1        0.001054± -0.122 

 / ndf 2χ  50.57 / 19
Prob   0.0001082
p0        0.2139± 3.161 
p1        0.001054± -0.122 

O
=45ϕRUN=10, CH=1, Udet=-1000V, 

 / ndf 2χ  50.57 / 19
Prob   0.0001082
p0        0.2139± 3.161 
p1        0.001054± -0.122 

O
=45ϕRUN=10, CH=1, Udet=-1000V, 


